Wednesday, April 12

Final Exam Review
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7 24 e; [" c'r/d
= {wp rule for assignment, twice} / [/

input|i sult Viejel..i=1<jAj < Len(input)yA inpht[i] > t
RO Ayl Rl € Q=> bP(f, R)7

input[i] < result = (Vjejel..i=>1<jAj< Len(inpft) A fesult > input[j])

We then prove that the precondition (i.e., Stay Condition A LI) i!no eaker than the ME@ calculated wp:
e To prove the left conjunct: \ a { B A g S g K
< ; .. i1 1 .

Proof via Assuming the Antecedent:

= (Fa "fP*’WD

i< Len(mput)l/\ result > input|j]
ST=T TR = Lentmbut) A input[i] > input[j] ‘

{ Shunting: p= (¢g=1)=(pAg) =1 }

i < Len(input) A (Vjej€l..i=1<jAj< Len(input) A result > input[j] ) A input[i] > result =

IVj ejel..i=1<jAj< Len(input) A input[i] > input[j] |

vovP
|Viej€l..i=1<jAj< Len(input) Ainputli] > input(j]|
{split range: Vjejel..i= P(j)=(Vjejel..i—1= P(j)) AP(i)} S 3 Snon
(Vjejel..i-1=1<jAj< Len(input) Ainput[i] > input[j]) A (1 <iAi< Len(input) A input[i] > inputli])
{antecedent: input[i] > result; and RHS of precond: Vjej€ 1..i=1<jAj< Len(input) A result > input|[j|} [ “ ’#

true A (1 < i Ai < Len(input) A input[i] > input|i])
e 2

{LHS of precond: i < Len(input) and input[i] > input[i] = true}
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